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H# 1

10.

11.

12.

If a foreign visitor comes to your country, what food will you introduce to him/her?

Explain why.

Talk about an experience of learning something new. What difficulties do you have to

overcome in order to learn it?

Many regions in the world face problems with air pollution. What can be done to
decrease the amount of air pollution in these regions? Use details and examples in your
response.

Among the following three activities, which do you think has the most benefits for
students? 1. A field trip 2. A home tutoring session 3. A presentation given by a local
leader

What is your favorite place to study? Give details and examples in your response.

Describe a difficulty which you have overcome with the help of your family, friends or

classmates. Explain how they helped you.

What time of a year do you like the most? Explain why you like this time of a year.

Describe a skill you have already learned and want to improve. Explain what you would

do to improve the skill.

Which of the following activities would you do with friends rather than alone?

A. Taking a walk.

B. Watching a movie.

C. Travelling.

Hard-working,intelligence F1 highly motivated WM/~ 5% ?

Choose ONE of the forms of the technology in the list and tell why it has great impact on
people's lives in your country? Airplane, computer or television. Use specific reasons and

examples to support your response.

Describe a present you have given to others. Explain why you think it is important.
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

Your friends want to change him or her diet habit, what are some suggestions that you

would give?

What do you like to do during your spare time?

What is your favorite place to study?

What is the most important quality the teacher should have? R\ 4T by & I fx B 22
()2 e At At 5T 2

Your university is planning to allow students to watch TV in theirs dormitories. What is
your opinion? What are the advantages and disadvantages of watching TV in dormitories?
Include reasons and examples to support your response.

Describe a present you have given to others. Explain why you think it is important.

describe a time when you learned a new subject. steps

Some people think students should study in the classroom while others believe they

should visit the museum or the zoo. Which do you prefer and why?

Some schools require students to take part in community service activities after school.
Which of the following do you think is the best activity for students? 1. planting flowers
in the community 2.doing clean-ups in the garden 3. recycling waste(141214 2L i %)

What do you think we should do to decrease the usage of car or other vehicle and solve

the traffic problems?

Talk about two singers who are popular in your country. Explain why they are popular

and how they are different.

Describe how cellphones change people’s lives.Please give your answer with specific exa

mples and details
What do you think is the most significant benefitthat internet brings to our life? Explain
why you think this benefit isimportant. Please include reasons and details to support

your response.

Talk about an important decision that you have made.Explain why this decision was

important for you in details,
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The person I'd like to learn more about is my teacher Tony for the following reasons.
First, it seems to me that he knows about everything. He can answer all of our questions,
math, science, literature, you name it. I'd like to find out what kinds of books he reads so
| can be as knowledgeable as him. Second, he’s the funniest guy | know. He’s always
telling jokes in class. We never get bored because he gets our full attention. Lots of the
stories he tells are from his life. | hope | can live an amazing life when | grow up, just like
him.
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H# 2

1. Do you prefer to live in an area that is noisy but close to shops or public transportation,

or an area that is quiet but far away from shops and public transportation?

2. Agree or disagree:students should do part-time job before attending college. 15 NAN,
K22 Wi N1Z 4 work experience, such as doing a part-time job. f4& 75 [A] & iX
A2

3. Some college students like to spend their free time studying another course or doing
schoolwork. Others like to join a club and enjoy club activities. Which do you think is

better and why?

4. Do you agree or disagree with the following statement? University students should

learn how to manage their time more efficiently.

6. Some people consider going to the gym a priority in their life, while others go to the

gym only when they have time. Which do you think is better and why?

7. Do you agree or disagree with the following statement? The most important influences

that young adults have are from their families.

8. Do you agree or disagree with the following statement? Having a relaxed or unhurried

life is the best way of life for a person.

9. Do you agree or disagree with the following statement? Advertisements have too

much influence on what people buy.
10. Suppose you are to choose between two jobs with equal amount of time and pay. One
job requires you to work with other employees in a group and the other requires you to work

individually. Which do you prefer?

11. When going on vacations, some people prefer to go camping in tents, others prefer to
stay in hotels. Which do you think is better?

12. Some of us like to learn by ourself. Others like to take the opportunity and share your
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ideas with others. What kind of person are you and why?

13. Do you prefer to live in a residence where there are strict rules (such as rules against

making loud noises at night), or do you prefer to live in a residence without strict rules.

14. Some people think students should study in the classroom while others believe they

should visit the museum or the zoo. Which do you prefer and why?

15. Do you agree or disagree with the following statement? The success of a school largely

depends on the resources it has such as textbooks and journals.

16. Do you prefer a job which requires you to communication with others, or do you prefer

a job where you work alone.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Some people prefer a job which deals with the same tasks every day. Others prefer a job

which deals with many different tasks. Which do you prefer and why?

ARG HE R F A2 R L

Would you like to make friends with the same interests or the one with different

interests? R [F] A [ B HR M AL FEAT AR R 1 2 4 IO N 2

Do you agree or disagree with the statement? Teachers should make their lessons fun.

Do you prefer to do a job which requires you to travel a lot, or a job that allows you to

work at a fixed location?

Some people believe that it is better for small children to grow up in a small town.
Others, however, believe that it’s better for them to grow up in a big city. Which do you
think is better?

Do you prefer to have fast food in a fast-food restaurant, or do you prefer to have food

in other kinds of places?

Some people prefer to go to the same place for a vacation.Others prefer to go to differe

nt places and spend less time at each place.Which do you prefer?
Do you agree or disagree with the followingstatement: people live healthier lives now

than they did 100 years ago? Pleaseuse specific reasons and examples to support your

answer.
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26.

27.

28.

Do you agree or disagree with the statement that it's important for students to study Art

and Music in school.Explain your answer in details.

While traveling, some people prefer to go to new places, others prefer to visit familiar

places. Which do you think is better? Explain why.

=15 A& itis better to be a member of a team than to be a leader of a team.

37



1

(i8] B— P ARHAVE e & B ROZ R A, B % 0 I EIE & R ] -

(077 AR - B B Ry 7, B A E B E, I BBV EL SR
AT ARBEEREX EE [R5 A LE S, A 1% A TR

2

[a32) —&F letter ZEFFEE computer tab 3871 sign-up sheet

RVIAER computer 5E[k paper ZEEARACIS [H], 72U ] LIfE S efficiency

[0 77) Z4 disagreed(1)ZIH-FEFH computer HYN[E]= {544 inconvenient and low
efficiency;(2)time slot, =24 [ [k Ht <& K loud noise °

3

CBE35: ) SR T 85 o AR g e v o (m) L, AL 2 JEF—2E paid student technician o X 26
technician Z(FAEMEE, N THRFIRMEL 24 /NSRS o B [EHR, E1E095% K —F -
[77] Conversation: ZHY X & T LB, — . A — B LT R, F ik
freeze T MERNIF M HEEINE — KB EEPIEAERN - HEE - Kitt— ML WXED
TR T A (R, — N LR T, 005H  student technician BEFF AR L2 [AI-E BLAEF T -
B R R EERIENE R EE SRS T AR TR XN R -

4

L) Shofd TA2IT— A library training day, BB AR A5 2 2 I I 5 68
B OR - 8558 T T ATE (F L (training [EAETEAS ™ assignment) IR (TS
T o

[0 Y 5B A A FRAE 8, BB A R T BB R IR LBUER S B E
F P R BE DR 2 Ve 2: BT BI04 journal, th T DA A et AR
R EMAT 35874 AORBERIC T heavy load of homework, 744 ft 147 fF 1L, R 23 L]
it

5

(535 ) PR RAT— theater FHEZG— local group HHRIFHEL: - (1)FE ) ER
theater A4 FL ARG RIFPEZ, N 2H summer class IV ERL T LA RIES)
T52) A DUBRER (B 150

["77] F4[EE (1)bring entertainment to students, AE=F&EFAMFANE - IEFIEF 2R
TEFROGHERE ZAES ARTHN; (2)the rental fees 58 FSRICE R - seats are

uncomfortable and old

38



[ 1%:requirement.fT theater major HY=FAEHLE take trips off campus and see a drama.f5: A
BAZ 35 JIBRH, E=R BYEH o IRAPEHN art student, XFERETT 47 EEfi# theater.
WS BEFEE A ZAREAFEMN reading AR HARPY, 75 ZAE WA ME
X character {RIFHELfE;F K real bargain. (RN H—JCH AV FLA 1L 35 J),I(E R DLE
=2 o 524N LA free transportation.

7

B T —DEIMERES - ST N EIHE, & = KIE L PAUE 2 H— BRI il
WHEIIZ - FikfG, EMe AR E 90, oG, XA IHE 5 AT AR [FHY [
AURIR ZH TR ] » ZR0a I DR EEH Tie -

AREEIES TG

FEHT

AR E 2

BB T KA TISE?

LCIRAHIE o T BRI, AR —FE 18 104, Uk =T DATRHE Rl R T [R] R - S
2, AHFBIRAHE T2

B SUFE RN BB RERAR - THER SR ER AR % - XRIEFA
TAWE A PRSI & A iR, RO IR AR T b RS 351 -

LM HESRAF G X -

B W — B R IE A A BRI U R PATRHE AT R B4 R TRJ R o XA P B ARMEFS A L=, O
HEFMRZ A—LE RAVELT -

8

R parking pot IVEAE, B ERNEE, THIENA 1)freshmen H
HE 85 PNAHEE park IRARZEMGA T R o 2)F5 KV EML AT 100 4 o 3)NIZHET
[y football space fENIZEEIRERZ o

9

—NFAEBERFRGRN S theater HYRE(L KDY IAWEALH A TEF(IE play
AURESK » 2RO 1. R 3801, —E 1 RE JLIE] play, i LA EE A A 0, B LURAS
SN o 2. KPR, AN R T EE L -

10

Boy HYRFIBERIHYFHL professor 3 lecture {HZIAEXMNEMEUH 75— NRERE
B TARREZE BRI BRI DT - Bl BOY M girl fE07 JJEAHG - boy A
S NEWE R FAE A AT website BFT 8 NOZGEcE, IEBIAKIE - 51,
YIEAELE professor {3 campus FEEEJE/) hotel YT -

11
57 152 N 25 PR B R T PR R ORAP T A = AR AR R R R IRV IR B LA AR T RE S

39



SRR IR HI R IR GRS, AR AR AL AN © 2:30 B NOZ [ e A2 A R A TR
BIEI H AR Z R AR SR T IR -

1R

SRR IR AL 2 1 E 4 v AR/ MY mentor S5 AERIMA office B o “R{ITIEH
AED,FH A SEIR T FAE) - U JEZAERX MR o 1. FEFKIT T, ZARE
FFLAMT office Z5H1 mentor AR, HSLFREHELA —~ student center T] DUfig X £ [r]
#i e 2. A LA[A] A B}, academic advisor 1 professor T f#IXEE(EE o K AG(EE KM 1k
£ confused °

13

FRATREEN— R E S E R O, M B 20 ORI T » ZWAEREXE— MR
B EEEE ARZRS LA R AT 55 2] 5 T [, XA 5B A RE# MK

HEFIRS - HXX WA E—MIEEREB AN R R B HAN R, E A E S s R 2.
iy -

14

57 152 N 25 R B R T PR R ORAP T H A = AR AR R R R IRV IR B LA AR T RE S

e WD BEEAAR

AR - LIERB S AERH RERELIER I HT TSR A FE S R E R RE
THHIIHYBIRR, A

AUREAEIEA /N © 2200 B BLZ A = R4 T R pllE I B IR B2 A 52 05 IRy EE I -

15

SRR IR AL 2 1k 4 v AR/ MY mentor S5 AERIMA office B o “R{ITIE
ATESNH BTSSR T fEARED o T B2 RS ANRI 1. FAEFRIC T, A [H]
FIRHMY office EFT mentor 27, HLFREBA —1> student center T DA F X £ [A]
il e 2. A LA[A]SC E},academic advisor A1 professor XL (EHE - K% ANGEEKIM L7
£ confused -

16
58] B, A S B AR M SEAR AR PO TR IR = R B R R R BT B T WD, 2R
FE, 1 M8E LMREET 50 77, (T2 - 2 ZAILEZ TEANG A AR
%

17

(R ] 2 B E T I AR DA ZE FE ORI B S B AT 25

UR W] AMNMEL - (1)F efficient; )= FE/ VHFEEEHCHE -

(SAAASRE) 2EP

(FEEEA] Q) EHAFEIEIOR D > RS E—H > TRV ERI AR - %
oreh o s DARTAAR L E R E] - BT R ARG QUE BRI URIR T - BAERZ - X

40



TR DA B R -

18
58 38, A S B B A M SRR AR, PO TR IR S R B R PR A 5T B ] WD, 2R
A&, 1 e LREET 50 77, iridfto - 2 AL TENG A AT
%

19

proposal: a student suggest EBIRRHIEFAIE S &S AE A RN 1. KB —RIERY
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20

A letter from a student says taht the university should impose on monetary penalties for people
who litter on campus for the following two reasons. First, it can make university cleaning. Second,
the university can get lot of extra money. In the conversation, the woman supports this plan for
the following two reasons. First, her home town was dirty at first but when her town issued such
policy , the town become cleaner. Second, the university can save a lot of money since it does

not have to pay employees to clean up the university.

U NHER > BREECRZ MBI T R WA RMERYR - 22 2 kA TAEERVECR » 3
TR ZRFA - AL 4 ZHREHERBIRAER - £ F8EFRA
Pl AFTHIREIE > A A LA K.
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EE: YA on campus BIFESEE S ESMNEIY— N7 XA A 1. SRR
FRGETE S AL - 2. SMEIRY light F1 sound ZFEHLF - U717 BAREE, W 1. K
BTN EL EIFATRAESE 20 B TR E PROFETIONAL 19,07 DU 2 Il 25, 75 F 5 47
SYSTEM 7 ¥F 2R 8 7 o

22

[R50 ) 5 AL math building Y —J2 XU cafeteria. Convert large empty room in
Maths building into small cafeteria. Student can eat between classes 2) install recharge outlets in
new cafeteria so student can recharge their laptops.

(2R A2 L, B U I, BAE RZ W ¥ 3 7 7F student center, & building 43z, b R[] B
P S EIEE
HE BE RRAE — AW AR T A 2 0, AR i Xt 8 2R K IH T cafeteria 1] LA recharge
laptop XFEIR 18,1 FLIE W] LLAEFR T 5 AT ZE . (students always use laptops during classes -
allows students to recharge

23
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(AR N Y ALHOE T B, BB 22 K AL A (auditorium) 3842, 1 2 2 ol 5 i) R 498, A8
Ja 5| online tickets system
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In the set of materials, the reading part mentioned that the school’s hall needs to be renovated.
And there are two ways of improving. One is to improve the stereo system; and another one is to
introduce the online tickets system.

The woman totally agreed with this proposal. First, from her experience, it is really a giant
problem for the stereo system. The microphone often doesn’t work during the poem
competition, which gave a bad ambiance for them. In addition, she believes the online system
should be very effective, which can easily solve the problem. This is because the hall is quite far

from the classroom, not convenience. And sometimes the queue was also quite long.

24

Reading—Announcement: the school is planning toprohibit students ride bicycles on campus bec
ause there could be accidents.Instead, the school would provide free bus service.
Listening—Attitude: 4= ;%)

Listening—Reason 1: AR &ML B AR, AR %4

Listening—Reason 2: Bus — /NI A kR —3E, KR 7B 7]

25

reading:

School will remove the posters on the concrete wall outside the student centre. first it can
improve the appearence. second, posters can be putin the dining hall on the bulletin board.
listening:

woman: disagrees.

first, the concrete wall would be boring without the changing posters. Different posters can
show different personalities.

second, not everybody eating in the dining hall. students may choose to eat in the snack bar or

on the street. So posters in the dining hall will not be noticed by them.

26

Reading
[ Proposal] Students should be allowed to use cell phones in the library.
[Reasons]

1. Students can talk with a lower voice and whisper.

2. Occasionally, students need to make emergency calls.

Listening

The girl disagrees. It doesn’t work.
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[Reasons]
1. The library should be quiet. If students talk with a lower voice or whisper, they cannot be
heard, so they would have to talk loudly and make noise, which will cause the distractions to
other students.
2. If students get emergency calls, they can go out to check messages. Normally, urgent calls

will be delivered by messages.

27
[ AEBBY 228 coffee house. R IX /N IR D NCRANE — AN B2 14T b
73 HAT VIR EATE H 2 .

(AR Y LA B A il OM IR BBt 1AR 22728 B R R (R A IR [A) 28 7
coffee house 2¥<:, hang out or do some reading. ¥ i 2:after renovation, XN/ 4T 2R 4T,
Rk R EATOBIRE .

28

Newspaper to Post Off campus Job Opportunities

The newspaper will feature a job listing of local off-campus businesses

1 stu complain about shortage of jobs

2 help stu find jobs related to their majors

She agrees.

1. When she was freshman she went to many places like a bookstore to apply for a job. She
didnot get one. The offers given by the university are taken too fast. It is very frustrating. As a
freshman, she was not familiar with the area. She didnot know where to go to find a job

2 Her friend who majoys in law wants to know how a lawyer works. But she works in a bookstore
which is not beneficial for her career in the long term. If she can find a job as a lawyer, she will

have sth good on her resume.

29
BB i K2 A A R 2 B, ARt AN 20 N,
SRR
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extinction of behavior
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psychological risk.

XIENSTH 5 4™ B, T AR AESE o SEfR_BIE, X ZE R BRI ORAY o N T & B 5 S i, B 55
BT &, HEZEHIXZER high efficiency ,environmentally friendly.
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FE A G T BZAHIHI T E 2. illustrate emotional reasoning

7
approach-avoidance conflict XA 8RR EH —1 goal RIS R (H XARME AR, i 1R

Discourage °

ZFZH S Friend, KRS Eif,/E practice Bf& L5 free time on weekend L
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SRAERTERMR 2 - /R Discourage °

8

FFiEHY self-purification ©

FRMREAY stream, JgIH < e B ], W1 SRR oA B A TR S8 B8 T, ~ SR 47 S AE
stream At self purification, LY bacteria #E broke down H— XFEREAR W HFIEER &
ET -

6

Tl T — B, W T A Z [R5 2 RV RITERY R & » Joid BEAITE ] DI A - 2R
REGRY)FENGIC R o BRI T, 87— E e PERS -
BEE—MICAREHEIBIE, 5 AR L RE R HSIEHILE - EREESHRELE,
BRERERE TAE K o 5 F] AERTEH o] DA 1S (B2 S 2] T (T 2.8°

9

natural consequence [N/ NZAAE =5, RN CIE AR R ARG, A (S S5 45 SR IE ST 4
T

BIz4E T, 80% 5 P L) LA TS EIAE GRS FE B 20 Lds - —RZJL
WG ERAE BB SH fUGs R £ AR n 5 BUR 7, 2 LIEXHEEIA
HEIH O UEHEATE RS BT -

10

R XHE (stimulus discrimination ) o

A28 sound, movement S5 RKAE )y stimulus, SN &2 X EEE S
BREARZ I EEEEE I TEL PR EC AMER R ER - sh HRSEIT HEA FEHY
FHE 0 RAMER A2 4 -

lecture B » F#% UGS E % predator BB » N ZRTAREBEIZES -
RE—MIMZES - BRI TEE © MMz SR Bk HHY sound ZE—HY
over and over again. [ EAHY A& HAYMN] more complex » like music - At LUESY AT DL XS
XA FEERAME N ZEAN predator o ZISZHVIEFLELHE run away » WIERAZHA S
escape » R = HFEREE -
Question : FHIT JJEYET-fEFT stimulus discrimination HYEEfF -

11

WP 7 THY(task partitioning), /) T 3K1G 5 S AV » YHEY—FiP) LA &, e HETAF
oy =SSO THE A MR _EFR TR, 5 AR R R R U RIS S R
BHY/ NGRS = 2R e N EI SR - S fE i X ARG EA TR S TR BRI A RUE
57 -

12
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attribution error o Ft & W AE FIITF A BT T AR, AT E I Z S a8 AR
personality, [flj ;% 5% EEIMLHVEWIF M

Bz it G 2 S— 12, KR8] 7,2 PE chief 32T 14%T new course Y [r]iH, chief
R4S R IES VTG L 23X KRS I 0] 3, At A B i R RIS LY
announcement, (HZ#7 HIZIRE] T 07 L

13

Behavior chaining, {2 1 I 0 N T-— (-3, BHIEIR (F SR HR AR —5 —5 3 - 3000
lecture TRM&E &, 5E—1 BT Zfh 3 821 wash hands, REEIN N, X EE /& one action, 25y
FF24,5 & ,turn on the water, wet the hands, put on soap, wash hands, turn off water. &K% —
R E NE T O X P SRR T LR E R+ T -

14

a2 T 4SS HEY cyclic population change, i 7E— 4 75 Za St (ecosystem) 1, A= 71 2 [a] Y
%% (population) J& A MHFZIEY i B3 (predator) HIHLH/H & # (prey) (YA E A — MM 5 - Uy
J13E2E T — MoK © Yf—Ff mice FI'EHY predator(ATAEZ L wolf) [A] A fHE
M o 43 =" E%: (1)prey (mice)Z%,predator &30 /2, population ¥E7[1; (2)prey /)T ,predator
BY)E/V T population J&/V;(3)predator /DT prey XIFIAZ ALK T, A1 ELTERF, population
o BARUE IR EE=MEELE S M ELENE cyclic ATEE X =ME -

15

place marketing,—1f J5 | FH 5 (05K 5 [ 2 -

BlF—"EEr town R BIEIVEMR,LH— RS E T DU R, BT LUX S town
BRI S [— S E GBI, TIT B E k- EEREERX A town R{ATLL
R AR, A REF THEEK, S 2 52, S N &M ch Uil H - X 2 ey as a2 51 TIR%
active HYFEE A town BRVIRIE, TRIEEEZNILE T - /o B town HYLTFHIAL R
T

16

interest boosting:Zy -1 & FHY—F£T7 (technique), 5L/ 25 AY I, AU ZER AV AIA RIS AR
WA N EREL & FER (connected with what the students are interested in),FZ4E BEAE AV A K
>_7zf§ o

B R TR EAVE, BULTHY - A—RZE P Marie Curie [H AT A A T#A B¢ # A
REEHIE T, R AR E— R TR E R AR, BT —Suhiy A ARG, mE S
LA EZR popular ZFAEIREIRAY o FrLARZ N S RSBV EI g aavT f&
RN EBIREGMET T o [ HBEHIGF#ERE (2.2 interest boosting

17

(FERE—MPELR) W 2 o8 A B (S AT DABR RIS, i fe &)

Pz DIRIE2E 0,05 1827 B B A AR B RS S) (B R IRIE R ISR AV EFER
S IEIRay [l W RS At e nT R BHERS Y 2 e 2 B
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18

¢ JFkHY feeding o PARPIRPAYILA R Zy o Hp—FPEEMEFIRZEAUST D 55— A28
i o 51 F-220 T — TSR cattle BRI~ o XFPEGIZ—FPEL B - XFFELERPE cattleo 2 cattle
IZE BN SRR Sk EA LR cattle A 2320

19

Assimilation and Accomondation

[5]352 2 15 : When chilren learn new object, if the objects fit in the concept they knew, they will fill
it in that category, this is assimilation. Accomondation FYEICRE T » LA IEE T -

I J7E 3% ¢ The profeesor's daughter,Jenny, always watches birds through windows. When she
saw a bird she would shout":bird!bird!"since it has wings and feathers and it can fly. Later, when
the profsesor took Jenny to the zoo and saw ostirch, she did not know it was a bird. The
professor asked her:"what is it?" She hesitated to say:"it is a bird".

AU/ - BB WA S RAYIHEE - 1k/NZ I BIRD - fEMAYIK 5 » SEYREZELZ /N
B AIRTE - —REEEH 4L EENWIEE - B I ostrich 4IRS - I TXANRI4
INZIRE T RS FEXNET - LR T BHE X

20
diffusion effects o F/EMILIG 1% P INNFHE A o (E 405 o Bt 4H U 1) S8 20 A P2 SR B ik
Wy -

— MEBE research —> exercise ] RN A] DL 2B f# office worker Y25 < 32—~ building 477N
Ao HEMM ex WIT—HARESIFAMAVIE—A - FRJLETET > LR ANAE AFLER

of B A RN - i TS ex (HUF SR > GRS IAR A EHIHA ex T o 5%
BRI -
21

PIBECE P T — DR AR AMTESHRERE T2 (AT A
AR AR

BT BT R ANERIMRE > ZEREERVOTFEETE - AREITRIERE © 151
TR AR i EEIEA el EFEFIEEEAHEN FTEMIEE T - ZJLHAK
B4R - (HX ELE X RHEHERAY 11 E AR B S IECREEA T Fr At EE T - 458
AXAFRAT RIS - 7 BB A R R - ISR JE - 20 LR ACR A R (BT X8
REE ISRV E &R T TR W EFEE - ME & X B MR — A
Mme

22
leader price, L A& 4 AN B it BN, F1) 25 W 5 B3 ke 2, 3t A 00T 7= i AR T AN S X
AP i 3 2 S SR DL AR IX A P i e AR, FLAR R T IR 2 .

HUR A I AL T AR, e BT WO B, 4T ) 3, V22 I o S UG S 17 LAl 2 17, 400 i A
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2 PTUIR AT T i S A

23

F@: promotion risk

Wy Jj: ¥ 42 software designer N4 TAEIREF, THHAME T supervisor of xxx department, {H
XA MR B3, HEAEKER, ARELE deadline Z HI5EH T4, ANGE motivate
HAh 53 12, AHE NAREG I, S AR B 1, R ) 2 45 Ath IR ) XU

24

Reading—Test Customer: in order to see whetheremployee’s performance, the employer might
hire a ‘customer’ that makespurchases in the store just like regular customers do, then the hired’

customer’ reports to the employer about the employee’s performance.
Listening— — /N JT 1) manager $8—/> A\ 4 test customer, KI5 52 110 Al 25 & 75 247

25

Reading—Coloration warning: Animals havespecial color or other features that surprise/startle
the predators, so thenext time when predators see them, they wouldn’t come close.
Listening—Skunk [ 5 i1 The predator of skunk is wolf. When wolves approach, they would
emita unique scent to drive the wolves away. Skunk has bold black and whitecoloration which
makes their appearance memorable. So the next time when wolvessee skunk, they know to stay

away in order to avoid being sprayed by the scent.

26

convergent evolution the process in which unrelated animals develope similar traits. Example
used was the aarkvard, a pig like animal, and echidna, a small animal in Africa. Both animals eat
the same insects who lives in complexly mud holes. Both developed long sticky tongues that can

be used to eat the insect.

27

[ 2R Y 020 FE %2 . #hbi(method of loci). fEBhENIZEZAZIT image A2 Z: V1K)
JiiFe EWIZRTEE vivid, B 4Fid.

[H0% 25451 ] 3% 45 T/~ names of planets 1411, ¢ names of planets B 145 —4
ITRIATUE—A 25 student center B E kR & 229042: LE AR EL from your dorm to
student center. The first thing you see is the front door, then the tree, then the status in front of
library then the building, 5 ——XJ W, [t 1 to memorize names of planets in solar system, make
Mercury as front door, Venus as tree etc, 4% iR M /K5 do the same thing, X% door, tree
A ARIZAE names.
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1

[FAERB]) —PDBEEETRERE T, IR BAEAEL EXTTR -

[fE I ] 1. R TTRAYE TR PR AR R B, a0 SRR 2 1 A e 3 i i i sk
FALHAR
embarrass - AT TEA L T, BN ZHAAFE—PFHHETUE AL LR - 2. HEZ
A RAIRARIX R
ANETRIRER TEARERIER T - BAEWE, A CEARHAN, UEE LR -

2

[FFAEmE ) BEHKEMFEM actina play, 25 R EH sick -

[f# 773 ]) 2478 Explain the situation to the professor, K HE - (HEH 4
disagreed:reschedule | /&, NEAHS—1 play % act, BAEHCH —MEUEWAH K&
B EE RS XA ERANE -

3

(P4 R] 554 R AR S (B I SR B B 5, N R0l 22 - (Bt [EIR 2 IEEKIA A, FE R
% gym HRIE o NI KHY gym ARAFF] -

(A7) 1. & town HEHY gym A one-month-membership NI4FH] DL cover B 3E
- HEA MRENRESEM - H2 75 —PMHKRT - 20 ZP9Mad - HESRS -

4

= BNAH—RINEFREA T M1 BES TN E#E S T solution 1 ZH—h, (HZ ALK
INT ERWMARH PR, solution 2 ZER55—~ band —#E3JHE, (HIZ2 F I (R ER L, &0 A 757
I

5

R 0L 53 4 i AR 35 S LR AR SR R, B2 R b T2 B R 2
ARG B fi% (discussion) - PR, — R TR IR, FARETE T - —H
RBER i T, IS E R i -

6

FBAEE Paper, MM — AT « XAPEIX XA T 55— EF ERAFEFEE
T e e PIERAE— -

A AR R BT DAFE Y _ESEAS, yet the man student thinks that it is too expansive, 24 155
AR H 1S EYE 8 MR T 3 AN A R E I - S AR it )i T EAR A
VB SE T A& 4a M - {2 X4 paper TREEEAC T, T -
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7

— ARG T > internship, (ERARENSE — KRB T - [ I7% ] O)EREREEZ
FAW BN FE—REFINE boss WYENGALF;(2) A 255 3L25, EHE R EPU-S/ Nt ] LU
R, AT LUIRET -

— DA BAERNE

2 WA AERZE LT ?

BELT?

20 WK T KRS RIG EHTE RIS > B LB RIS E R - WENAHAL —H-E -
BEEHTILT  WRA - MEFEENEYEE -

5 HE LT 2

2 HAMWANNE -

F— BEBE  ERBLIEEY > FESIERIFRERSERR TAVE B 6t
EHUHX AN = ARBIERET - TLE ML -

B RN AR LA ?

2 BATRAFE— A/ NAERS | ARBAIFRATAT A 15t TR ZEH 1 BUAEAAE social »
WRRMATZERRY - ARG - SZHWENVEE  ELXTET -
[T DR % e sleeas S K 2l I 3 RN T} e (1) O R i Y i A DA Dy Sl

9

BAEFRBATENIA T E A RANE SRS LTTHES 7 - 5%
RIS NT — 0 - B e Rt T 48T iR/ N,

filp TR SRR BRI © B LB S A S E L, AR EH ORI

10
—NBEELAEMETEL Y T SRE EERE BRLER ERAAE HRREZ AT,
BAELD EWAEERE. FUHAL TR MNEN - MEEREESIEATREEL BEEE=
REGS—NRREBAGRET L EE S, B s SH0R R 2t -

11

FBERIMRZLE T ft—5k 5 R ERHEBSH IR X NEB A i S IKEY band AYEHL(E
EHEA > history paper due HHR FTLIA — MR HZE -

fLEIGP R 1. RIS BIRHS paper, (HE2%F AREE - 2. FRHEBESILEELAHIA -
(EERAHEBAEREIXNEES X F—R, FMRAE AR ILET)

12
AR AR L - (B EORHI A textbook TAEZEES 5 T > (FALIHRZEAT -

1~ W a5 6 text book - (HE A HIHE TAXT TR - 1y ELIEAEML > AT AR BESR LA
NI o P AR AR - (B SO IR, SR R SRR R F A,
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2 HEREALEEIZEEEHCHS » X5 —REIBEA AT LI (B aRk - B
PN deadline 1R » BiET FHAF4A R 7T DA AR AL ) -
QL=

Briefly summarize the problem and two possible solutions. Then state which solution you

recommend and explain why.

13

BRI ARERIEIA BEEREELSER T AN NEAIE - D RFERNERR
RADLDARESRE WEE MFEIS 8, L AR MY TT A, 5 RIBCA GRS 8], 35— - 55
AAREE RAAMMEVERIEER A T RE LPBETHE LT RIREHKET -

14
FHAR, AT MEFIRIETT T 28UaAr E 1L FES R —F B EAMNEFRA IE

AN N ER—  REAERERAETXEY = ZPHEE R EEFRRZFEE
B[] oE e It A A TRE A REAE E S VAL M

15
man Y roommate ZEHE] in campus, T LUEEH R — D= & - i solution,—/NEHi=E KM
AR, AR HEEZALE messy - EANEFRCENG advertisement o [A[RSZFFIES, A0 o

16

ZARE] T —4 summer job, 3 HAE town & T{X )5, HIEH CHVEE E LB (A
ZF| 7 summer job, {HERE summer [EAREHEXNET,HEIE LT -
BALTHANELCL A LINERHYS S EE NS E A M AFIRER T - 2.
PR 320 SR AR A2 B 22 A T S B S Ui, A SR PR LR T B D SN T

17

BRI AREREIA BEEREELER T AN NEAIE - D RFERNERER
RALDARESRE WE ' FrEIS 8, L AR BT, 5 RIBCA GRS 8], 35— - 55
AAREE RAAMEVERIEER A THRE LPBETHE LT RIREHKLET -

18

FESEZECNZAR paper, [BAFEZE museum A HESERL M museum HIREEERITT,
HEESIRE, XS A5 AREL -

LRSS TN (DIATATT paper HYEPIEKIEIRA, B A BB = A SHY; ()5
i b IREVEIHE R /G E museum, BRETANZE A] LLESREEDELL, (BAEMA BRI, LIREVE
A R) -

19
BEMBENMLZ TF 5 SEFFEMLE EILEMAEDNZNERE 5 & - KfEAZE
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T o
PITGZETTHR D FTRIES MR BUS MR - 5% 2~ TR R TR B2 AT Re iR 2] -
T L5 A W PRIME RN T 26, URAVER IOR BH

20
Problem: the woman broke her ankle while playing football, so she cannot ride to teach some
high school students, and there is no bus either. Solution 1:taxi---cash---expensive 2:ask one

friend for a ride---someone offers already---own to friend----long time waiting

21
LR IB Y TR AE TR fETE TR o T R RIE T, BAERBGIE RN ESHE
I EPR R T R ST R — Sk

22

4 took 6 classes this semester and she was selected to the women's basketball team ° £ {5
BRUNZR G Tt K2V It ]

AU ITZE 1:to quit the basketball team, since it takes too much time © 58 4= got
in the team after several times of application,ji{# T {R shameful - B4 15t J525 2:to drop
some classes which are not so important - iZ [Et°R & required classes - {HZ:4E i good scores

in extra classes may make her competitive to attend a graduate school -

23

AANFEEAE sam ATHEFRIEE, ARG X EHMAIEE] T professor SR/ 4H L (TERE
JigLRi) o {HE professor IR AL cancel 72X~ lecture - Sam HCLELAE T PAf
R INE,— & reschedulefH ZIHFLFEIGINSEIBALRELT - B —FEMEC
BRI RS T Q&A BT RMIE TRARIE AR

24

gg b B ) n) AR newspaper R SCEE(H A R AL B H B AL a)
mm HELF

Tk LA ke (B gg WARIXAESCE DRG],

J7iE 2,384 — RN a], 4 U BT 24 B o

25

Problem: The women is attending a play, but she’sbusy with her school work, so she’s afraid that
attending the play mightinfluence her academic performance.

Solution 1: Quit the play

Comment: she’s majoring in theater, and she is notattending the play just for fun, it’s beneficial f
or her career

Solution 2: Drop some of the required classes, takethem next semester

Comment: she has to start over on these classes,it’s a lot of trouble
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26

problem:

the man has a conflict : he wants to attend a film discussion meeting tomorrow but he also has
to dine with his cousin tomorrow.

two choices:

1 the woman dines with cousin for the man

advantage: cousin will know more people

disadvantage: the cousin is shy, dining with the woman may be uncomfortable.

2 the man will not attend the meeting.

disadvantage: the film discussion meeting is really interesting.

27

[Problem] The man in the conversation attends a club and they would like to travel to France,
but he doesn’t have enough money to pay for the plane ticket.

[ Solutions]
1. Hecan work extra ten hours every day at the restaurant.

2. He can sell his guitar to pay for the ticket. He hasn’t been using his guitar for a long time.

28

LA ) ) B — AN project about film class, 2> R EEHUEE AW, 10 H A P RS H 1,
WAL 7 Z:1) 0] LU ) building HIXHLIH) scenes. 2)nJ R8BI KA, K R weather
becoming better, {H & ] 8 i AF Xy 75 5 gt 4, I EL5E iliX S project, WA (]
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1

[VHEEE 5 1 invasive species © XIS 1RGRAVAEFRE ST, P AT » LIEERENS, S FRIFHT &
IR ANZ, B LUA TR G AR A7 RE

CHFEE G 1SR A ARG S A BN P/N, A  lizards fi{/TA]LAIZ birds, 2875
XEEHLRL T invasive species 2: 1] DA F I BTV AL © N A ACR AL, B2 BRI
JLe

2

(PR ] PR EIAAFHY logo ZiEE company HYA%E

(2 B1F1 (1)IFHTZ 1> toothpaste AEIHY logo J& Y, XAERLILIHTEM L Z A,
PRGN SN B b ()2 SR TR AR i L BRI AR 55 2 2RAT A ] F 71 old fashion
FIE logo, NG M B B A KX KA ©

3

LTI — TP JE R T G I 5 K A R (B R 2 AR KRR TR
w2, MM ERE “REESIIH A ZAINE SR - (R WEE RE P RERTHILE

W= T R 2why?

4

Wi interview 47 PAFHR,—FRE unstructured,—FfE structured ° unstructured FEFEE [0,
RFOITE city HER R FFLFEZE improve, [RRFFEEE - structured FEly 7155
detail, /2 A ZETHY A&, 2502 /E AR improve city, i 2 [7]/2 ALK& 2. improve °

5
ViR B — Ry TIERN A R T — SR ] DURKEE] predator S 1M H A DAGREF A
HIE - XNEECIRIEA 4 e

6

RT P EEE - Gl b 1 7R B AL SORF AT AR BRI TR - S Z AT A S M (011} business
plan 71 executive summary T+ %45 ARG — RS, BRI, A AR ERTA R TTEEE
FIMEE - (VA ERABHY BEITRBARERS T, RS E T E R T, A A,
FAEREEE S - MEEERSIAREES 5 — DR FEAZ AR, LAEIA
R UR R EVEIN 0L Z S PNESPHENEE S FaL i TP P S e PN i /Ol d RERE = ik a7

7
VAR, AR AT - — R AEIREEAYRPE_EZI EE4D Stone o {HEXMZ lack the
inspiration, [Ny JZ7AM - B H —FUEAE Clay 2% Plastic b4, — mi— S EAIZRPE, AR



St cut FEHE SR S X R YFIRE mistake o

8

BT A T K - BRI, A T & MM AR R T — 17 - MR, 2%
PR TR - —RORVPATTRA T AR A T -

55— RhRINER A © FLAL TN ERRYBEL LA B A28, 1 5 T RIS « AAE
Wilson 45 - —FF48, A TIERS NN S, TIRBERAE - [FRATH T HIN% TIE
ST HRE T B RS T REHTHIIAEIE B A SRt A 2, TR -
LR I S VO R RS 255 B « BUL AR T REHTINE P AEE T
Bk -

BRI - BRI Rl - WSRO B, 3 2 ey 2
PR A TR KR - FERLL Wilson 91 - Wilson 33 T 8 B R 21948, 5]
LSS T AT © BE AR SEENE TAFRAET o ik AR
(LAY 755, Wilson (351 T RS IFREERTIE P (AR « FRLA FRKITTRA
fF2  SCPABTBIE -

9
KT FRA L IBERTHACAY P solution © 1, pipe 5[5 Zmi/KERE 1158, X Ho /K S0 2 R Y
salt 7 [E]3k - 2. FiHEAE F salt soil A K-HYMEDY) -

10

YT Marketing |5, 8 BT —fRARAK, /INEAE 2 32PN 7741 B BR 2 R EE AR DX FL i
FIIAE Bt A E DR ARV R AR TS B 552, SR anhR R &8 5 Joint Marketing:EEAIIATE:
E Y o] LURF T S AE A DR K B I B R )5 HY Leaflet b[AT—mCHER

11
KT FRA L IBERTHACAYPI S solution « 1, pipe 5[5 Zmi/KERE 118, X Lo /K 02 R Y
salt H7[O[3k - 2. FHFEAE A saltsoil ZEK-AYFEDY) -

12

WHE T PR L RS (Commercial Barrier): Bt g[S Al D IR L [T, 73 &2 LU 5 F5
TER BT BRI REREICRE L B, 2 a A et 52 2 0RELHE T —1
IR PER BRI IE S M Z AR 5[k -

13

Protecting method of some fish in the deep sea use light:1 to confuse the predator---deep sea
shrimp: burst out light from its mouth, directly to the face of predator, then escape 2 to cover
the black shadow of itself---hatching fish(?*~ff§ 7€ ):constant light in its stomach, camouflage the
shadow made by its body, so the predator won't see it.

14
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[VFRZE ]

=T comparative marketing > 7] &R NEEEH =S E R products » i EH CHYFT A %
LB L HF o ABEXANTTEA M drawbacks > FE2EBIIIE -

1~ R E T LT W FAI 4 F( LA soft drink il ROy & HREEE] T F45
TR EHIX A5 taste good R A AE—HE )

2~ X U7 A AT RE 2 insult BT F7 A HTE » S AHRBN - (25T —
ML KEIBIF » Wil A 2] SR B IR KL RFERE - IR A RT3k
REESE « S{FHH B R FHYIE Wl insulted T > K2R AT ©

15

EEEHRY reinforcement, 43l positive reinforcement f1 negative reinforcement 4, H[1
FENIRE RS N AEREY AR PERUEFR H A S WRAVARTE . B EAR2E T P Re S B RE
PERYPIF- = (1)positive(add the pleasure): L[ H . FHY food, ZXAEHE AT LAIIEIRE N FHE
XFh behavior = (2)negative(remove the unpleasant behavior), N Z ¥ F-_F shower, H52. 0] L
AR B XA S LATREAET -

16

WS R T YA, — SRR B I A 1R S2 AR E R B TR B BRI
HEAEZTIIEIREY FBAETT H B A B 28 — M BB B ANSKIREI ™ nds & © 258961
DM LRI RIS N B AERIT R ARTXPEtEATIH BT -

17

(VB ) Bhp40 el E[EI 2R L G F (5 = (alarm signal) » PIFRE 51 call » 2811, 55K
MU, 58 —RE, HAMRE AT IS, K E AR & RN - 2(bEF S - f(salmon) @il &
bR R R R 1E 2 SEHI{ES: {55 (chemical substance)

18

two things ancient human learned to keep the fire burning. 55— technical knowledge. & Fl K
SLIRSETS fire die out. fEZAEH H AL EAELZE keep burning, HtZE add wood. X&
Technical understanding © &5 —,social skills Z15KZZ[E AFEEN, K EEK T, WA T &1EH
BHEMERREK -

19

The professorintriduces two benefits of flooding to farming. First, it carrys with fine soil. For
example, when water flooedd to the corps, it brings with silts, which is essential for corps to
grow so farmers can expect good results. Second, it helped with irragtion. For example, farmers
can control the flow of water and direct it to the places where water is needed.

AR 2 7550 B K BT RAEIRAY £ - HZ» A channel the water to the places

which need the water and use the water to irrigarion those land far from the river

20
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BRAERET > AR m e il SRS B ORI R & AR - 22 T
Bl + — B D BV MIEE L DL > ZRMREIR RS - ILENTEeRIBEI AR - S
FMAE © SRR S EL ILHRELAERHCHE T A& - ik
X PR R B AR Y -

21

COREE S Y & EEAEARUR K KAl £, I 535

COFREG] 7 X 25—l ), AR v W B Al N Kb o 5 RO e R A, A b S A Je it
(Fr s JBs, w] LA ARATT o

22

[ )4 8 1 mechanism that animal use to survive from water current.

[ #1541~ 1 one is attainment, black fly larva. the second is thick body, sculpin.
A7 PR BN, black fly larva FI splince( & 1) A 414 AT ELZE SR H CRFFANED, IBAS larva &
% JEK4 hand&hook, T AR LA touch the bottom of river.5f N4 G R B A —A
borrower(# %), i] LA AE K P AR FEANE) .

The lecture tells us about the mechanism that the animal use to survive from water current. The
professor gives two examples. One is the black fly larva and the other is splince. The black fly
larva can stay under the water without being flush away because its 'hands and hooks' can touch
the bottom of the river. The splince has a special physical structure which enables it hold tight

under the water.

23

SFE AN F] RS AR SRR AT DU A €A [\ R R

WA 1: M low angle #1575 LL 3 powerful

%17 1: H3% Queen of England 1] queen X ] lowangle #14k
WA 2. M high angle A 845 /1 (4. LL 4% powerless

Bl7 2 AN, W R B A hopeless

24

BEE s AT A AR LSS BN R S AR TR 2 2 03X P I G A7 I o g

M 1 FRATAEZ B EATAT BT T iR

#l7 1. W TR RN SN classicalmusic concert, — 42 JG Bt A XTIX AN concert 1R
2012 ARJE S )0 E AR N EI ] LUd A T ) details

MR 2 RPREER I N B g 0 159 TE

#l7 2. FERAES LR, ATERERZCAEREAIM N, L tallboy/intelligent girl

25

product repackaging : two conditions companies would do so the first condition is in response to
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new technology or material available for packaging the example used was milk bottles from glass
to plastic more durable and cheap. Second condition is in response to competition from
competitors. example used was milk again. it's competitors selling juices n tea started to sell in
smaller n more portable sizes it changed its products into smaller and more portable sizes to

respond to competitor market change.

26

[ R 255 ] :biology class. ¥RFfZS fish can make electric current and they can benefit from
itin 2 ways:
Hig 1. L A capture /M, T 3k4G foods 4545]:eel can produce strong currency to shock
and paralyze small fish,and then eat it.
Mg 20 HIHRUR E I, REREAE RS . 2840 —Ff gL knife fish (¥ e S0 #0544 7 2 1
electric current field J: explore the dark environment. If there is a rock nearby the it,the

current field will change. So the knife fish can sense it and avoiding crashing into the rock.

27

Y2 . WA PIRP 7138 N harsh environment FLARFHRNMA S C T, F 1A 1 AR UG
T HARZFR, (B2, rblisid 7. SLARX high wind, i K&EZE—A, HEidi
HJLASr, A high-wind [f) damage. S2 &% lack of water, JFEkAIHF ] Ly /b 28k, fif
177K 57

28

KT weedsit AN ftuseful, HHRAEN, HHAH,

—Jthold the soil FcoffeeZ*ff], coffeef”Hi KZ LW, weeds{rf'lfi 12 wash away;
9B A S animaliz i, W adcoffeeZS i, flifi]4x 20z I8 Leleavesil A &crop, T LAR]
PLORAF AT o
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1

FERE - FE NN BETIRAA = MR - B AEEAEER - R EET -
FHONFXELAR f3JZ uncertain > il - BIfEA T TR > BENTEESIERTURHIEN
&y FTAF R X RS A S Tk - B2 BAETHRAER K - EE1E
EMERHEER - KRR EHEE TS - IRAT AR FEHRE AR ST IR A
f ey R AR AT RE L B IR - 55 = X s R A B G (RS R & AR R BT
BHEITE - (BB AESSIER AR 7 B TR RARY EmE - AFERAE privacy laws SRIE
BFFE A A ATRERE RV BB IR AR B S M A8 B RV 3RS IR 2 AN B FE IR
ANECHIREAREEERT - FtPlR T RO ML SN FER -

2

B Z MR AR R8st T - SCE W RN NVRELRYI A AT REA 35 eH#
F[E]— I SHR AL -8R S1HY reports § FTAESE/KIRE system (VY pipe iEA A TXAHKA
= o

Bzl - LSRRI RE A SN » Y 51 TR pressure B[R] 278 > %t ran down into § FF A
HAVEIREAISL AR AT EE BN B common symptom ; 7KIE & R FFITXH K R 4002
seperately HY » RNAJRERE/SHY T IRFK -

3

BRS¢
Wind turbines can be used.
1 built on sites » not interfere with bat’ s migratory system.
2 The turbines would shut down at night

3 people would use radars to keep bats away.

0I5y

Will not solve problem.

1. Turbines need to be built where there is wind such as on mountains. Bats live close to
mountains.

2. Tall structures attract bats and it is where they choose to sleep. Bats can sleep in the
turbines at night but when the turbines starting working in the daytime, this will alert and harm
the bats.

3. Radar can damage bat’ s reproductive system.
4
[5é] 5%
it congestion pricing * Wiy T Z&AEACIEINEE > THEAE city YLD EURILDT - X FERRAE 2R 1%
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_“F °

1. ZXFEEAT BA improve time( T S5k 2 150 1144 ] [H])

2. AIDLMEERLES improve that area's environment

3. YaHy fee AJLAH] T revennue (X~ B 1A G LB 2. R REERE) the city ATLLFHERS - B (T

Nk

W]

1. A A IXFECA L ml ML B B A B OE XA X SO 13 28, SR DRI Al 2% 7 AN+ 3%
PRIBI, ABATEAAER, B DRI i i e K.

2. FEWCHRIX LA SE AT B & 4 ok, AEE E R AR Bt & 1852, noise and air pollution it
%o PTUAZEEA city #REI G AR 4r

3. I AAGE afford XA T, wta 24 subway, BUMFELTS HTE 2 10EL4ED subway, X
FE— R s AT BEIE AN Y 1), I A AN ReEE 2R BB, BAt A m/ER T .

5
Bl efl: — WA EE B AEAR A LU 5 JR AR K Ji B
() IR T B IR,
(=) plant 1RZ,
(=) warm climate
HE)
(—) FAR S ELE AR
() plant 2&RZ, (H2EREED
(=) warm climate is actually a disadvantage, because they needed tocool off

6

il BB K BAT = AR T KR RE

(1) RZBETSN A R AL, WIRBAGEM 5L %

QYRSATERMG E MRS, REM T =R E T

(3)RZ AN B

WA €23 19

()RS IER A T vk, SR &dh, EKEA 551K E)

Q)R g EE LR RO Nl BeeifE GIZANHEREEN 2D WA Z TN
BYREAENIZ B, B IS AR E LB RE BRI KR (A RAE T),
HRANET T,

7

Bz SRR 22 (1) ARTE R A w] EIER 257 %00, M B O JF 2w (self-employed)
1 KAH FEEHKZ bureaucracy, MELLVSZILH Y ideas

2 R EYETARERRE EORAN N AHT

3 KA TR JLEARAE extra benefits, FLATIEIR S, TEAR KB TT AR5 .

Wr e —— R =AM

1 AOTFAREMAN TS EZ.
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2 H T E IR A RS, e T AN
3 A A A extra benefits T34 {511F -

8

WEESE YOS T Harappan civilization decline [ )5 A ) =AM 5 o

S AN A 52 BB AL WS

AR SIS T .

B AN e R aE i KA BRI -

Wy g B —— 5K

S AN I H ST R AR ORI R R AT T A LA B X AR I A 2 T 5 B
decline.

55 AN 2 R I U PR R R ST 5y — M SC W [RIFE I 52 T AR AR AR T T A T
surplus 1] food. FTLEL H ANA] GER A% AZ 4L 1T decline.

AN HONHE K TR, AT A0S T e K R G nT LT 1k i KA . o o

9

[ ] lecture ¥F5% [ ] written book Pearl Poet ELIEAFEF B & #E, A HA —1EL L
TEIX A5 —A poem [ title NI fH4 P. SCEFLITHG 7,4 =] -

1] 26 1 M8 UCH AT REI N John Massey, KU iiiAL R IARATI A% 51 1) handwriting /& —
FET;

[2] 25 2 /N2 Hugh, R4 H 3 —7 poem 5 1) region FIl-15 1 —F-N A %1 Knight
(45 5 17—

[3) 25 3 FPAE ML AR VY & 1% /2 — collection, Pearl Poet J&:—HE A .

(CIPAE Y

(1) 542, o LE AL HE copy LR, JRMUH: reproduce IR Z K. FTLAAATE
FI AT e 2 [ — N N T-9 copy original 115, ANfeRH/E#E A A

(2] 55 A3, B S, B R T dialect AN X B AL T A 1) #07
RAAR EE dialect, JT LUIBMEFELEA R FE G 60T & AN F

[3] 1435 vocabulary [¥] FHZ0E (1) # 2 B4 2 OMRIX 4 miX e 2 — MANE1, -
HHEAIRZ N collection #i471X L8 unique 7

10
#1515 bee F£ 200 million years FHEIFAE T AT A2 E 558 - B -
&bt

2 ZEHEY) -

3L ESEFTREAR 2 bee HY ©

speaker JZ3%

1 AR BRI R > ToiZ% preserve {bfa -

2. bee N E—EH feed on (LAY » B[ LLE pine tree {1 2.HY °
3. ALY E AT AT E B E A ELE bee HY -
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The reading material casts doubts on the view that bees existed 200 millions years ago. However,
the listening material disputes the ideas presented in the reading with several arguments.

According to the passage, bees could not have been in existence 200 millions years ago because
there are not any fossils of bees from that time. In contrast, the lecture argues that fossils could not
form at the time because there were no trees which preserve fossils.

What is more, the author maintains that there were neither flowers nor food for bees 200 millions
years ago. Nevertheless, the professor holds that bees do not have to feed on flowers because they
can feed on pine trees or other things.

Finally, the reading emphasizes that those fossils may not be of bees. On the contrary, the
listening asserts that those fossils are of bees because the chemical substance of the fossils has
already been tested. (153)

11

Anasazi SCHHSEHR vanished, it 15 drought & . HEHWIR:

(1) AEkARWE, ZSCWIWHERT S IR KB R B AR S, Ak ™ E 5, 800
MEpei

(2] SCWIHZRHT,  Anasazi NS EKRI A S, Bk Th iR 5 X S8 A SR e fi
UEARME KR, 45 Anasazi A JGVE N S WIHSR I 59, #1859 I 5K b .

[3] Anasazi [ SCHHVEHIR RS 5848 with no notice, 7 H. in a short time, 136 F AN & — 1 3¢
WIEWR IR o %06, KT Anasazi [SCWISRWHEI R IR 2, (AR5 %A E®R, +
U S i A . BT

(1) 2BRAZRE L. SCWITH 2R 1800AD HijJ & — X KARE, (A% KIL Anasazi J5UfT i
PRI AR ARG, — s AN IR, 0 B A BRAR I A7 >R R R 7K Ui AS T

[2] Anazia A75E)LEFERTHE KR A, 1 HART 541 68 1 % 28 K, Bred,
K —PEWA L. X — BT

(3] SCHHSSARIEME, WTREIE th HLAR R RE F ) o LL R 2 plague FEESH war 7 —Fh it
K, AN ARG K 7% civilization 4 T 2R /KU1 Anazia AFTAL, 0455 5
TR .

12

SR (E

passage W T —Ffn] BE 1 EE AR RE— IR W PR K 4t

1. sea level decline I /% coast living K4,

2. cool climate, 1= 92 & K LG 83 A1) S02 M4 %, FEHLER AR ¥4,

3. asteroid strikes, 2 [f] cater fAHMFFAE R sunshine, 1 3& ZL B KL IH) IR A
listening HL[¥] professor #HAT— fi— ¥k

1. i sealevel ZEAS/NIRHESE fluctuate,fH/21R graduate, ITLLX} coast living 38 AN J 5% i
DR R B AT e ad N A B 1R AR A
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2.502 HARAEAEHLERAR A (B KA S02 RIEA %, i HLid g 248 IR N B 2 M i L

3. asteroid fE i HIEKIELE 12 million year ago(4f 1% 5, AN KM & P AEAE SCHLS), R AW KK 4
TR AR ANX BATAT KRR

TR — IR OR KA 1) D A

1. I BT I O AR ) K A

2. K BIRANE R AR 2, R R AR A .

e K4

1o YIHEEP EDZ BN, 0 P BT AT A R, AR M o AR s 1 i R
Al

2. KA S02 A2, 1y HLE A% B i B 28 i i L

3. PMTERETHIERIEAE 12 million year ago(UF 58 L), £ M) KK 46 2 iy KA, AN CEAT A

KR

B BRI G R

13
%] 32 3 2 deep-sea mining

1. & mining 1) metal J& &A1

2. ik metal 17544 n] 8 0T

3. IR mining B4 v ] @t

P

1.volcanic mining H 2K ) metal " —5€ available, H AjfITEARANELF, collect and
transportation £ AR #EA LT

2. HIJE metal 254k 2 A LR, (H2E75 2 drift back [F1? hH)id f& 25 52 5% 1

3. BARIIAEIRZ law B, 1M coast J& T — AN E %K. international agency &law L XJ /2
WA, X coast TR

14

Primary care doctors

SRRV AN

[5d] 13¢2

20, 000 primary care doctors are in shortage in America, there are three reasons

1, bE2afisadhsr, FAETELGEK, Yl 5 primary doctors 1) TG, AEIELTEK

2, PCdoctors K3k, TAEMEAK, HRPEAZ, BANEETEAN TE

3, the opportunities to get trained are limited. MV 5 ZR I =44 B L, {H 2 residency
position A%, FEURZ ARG AREA, 25 AATHUE R B 8 # 1% 4T

Wr g

TR A AR A A R T 1

1, ZAENENAEEN G primary care field T, BBt S AT ALFE D), toand Bh i
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DU P 4

2, WRAEYI A, b AR AR A B AR AR, e T2y, IR AR R s> T
3, REMA T —ANEE, B W R AR AR AR AR, BUR SR ARATT e HE 3
HAbPBE, XLEPRifT residency positions

SRLCECR R, PSR A2 A, W Wr S ARG 2, R R MR AL B TIOCE
IO T, =R AR E AR, B AN AT A R IRE R, ok
B SRR INHse, AN G 1 BB, AREMRIET W BN A A CHR T MBS BT
B, 280 ANFAiAq s

15
A5k
[ ]
Electronic medication record
Reading:
It is benefit to have electronic medication record.
1. Save money
2. Lesserror
3. Provide research data
Listening:
Disagree.
1. Doctors will keep paper records even if they have electronic records.
2. Doctors like to use paper records, and ask others to input records into computer, which will
more easily to make errors.

Medicine records cannot be used freely.

16

A5k

Schools in big cities do not have enough teachers, the reading believes that signing bonuses

( offering teachers cash payment,and other financial incentives) project can improve urban
schools.

1. Signing bonus will increase the income, usually teachers' income is low. So this project could
stimulate other teacher to apply for urban schools.

2. The Signing bonuses makes the teachers's salaries comparable with other professions, thus
would attract capable candidates from other professions into teaching positions such as
computer science, engineers.

3. The signing bonuses will reduce teacher staffing problem at the beginning of a school term.
They will not quit at the beginning of their jobs. Besides, They are legally obligated to pay back
the money if they quit.

Wy 41
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Listening

The signing bonuses are not likely to solve the problem.

1. According to a survey concerning what do teachers care the most. Salary is not the top
concern. Other factors, such as how well the school administration is, how well the laboratories
and libraries are, or even the commute hours matter more to some experienced teachers. So the
experienced teachers are not likely to apply for urban schools only for the sake of money.

2. The biggest obstacle for other professions to enter teaching position is the stressful and long
process getting the teaching certification. They have to quit the old jobs to prepare, which
results in salary loss. If they are preparing while doing their current job, it would be more
stressful.

3. it would not be a good thing to both teachers and their students if teachers are trapped in
their position. Teachers can not leave schools before they pay back the bonus money, they will

not in good mood, the teaching and student will suffer.

17

DEY ET T ST I B R A AN AE

LR SARE BB SR — AN BE RS TN B SE P A7 A8 1) B AL, (B2 U0 I3 B AT fE ™ A
BB, B LA DR B R R IOACAT AR IE s 58 ANBE U 1 0 SE 1A T e i e LU i
AAEAE, B VR IEA 58 58 R WBOIT AR 35 B AR = AN BERUE 245 R LI 5L
e — TR SLI S5 Caps, {HEEZ 1 L S A4 AE AR [FAL 22 ) o

18

A5k

Business ), [Efel T =Flgmfi ML, ey .

1. New version of existing products,

SR 2 T SR 035 AN OB A S B A I TH RRAR R I, 5t 20 TR AN 5~ VOB 31
e

2. New product related to the brand.

B B IH ] vehicle FSZ 542 tough, U 5872 W 40 boots ¥ H IXFE ) quality, fE 444
172K bad reputation. 5 5% A1 SR G SCOKIEM I ) RIITARSE T 58 0 1, =8Ny v S 3E
SN

3. WAL

RS MR — AN A TIB AW LA A RS EARA A 28T — kit
WA 58 Ty 5o AT LLAIERAT — RA ™ B 5 IR A w1 4R B O DRSS FEAKO
UK A F], S FBNEGEZRRTEF LR

19

A5k
[ ]
LR RGN
Reading:
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1. ANBEAENT source of food

2. Migrators ‘i K[ competing for grassland

3. WiRHE R RE, Wik ke

Listening:

1. NRMAREITAE L1, FEE A8 T RN AT A6, AREWr i 4, (HE s
B TR

2. BV DAEIEAR RN AR, AAREI R, 3 ] LARZ S5 [ 20 A= A fE v 3458
TCVEAEN o

OIS INE S R ITEVEE i3 TRTEE £ S S SR VD [TV 33 e B2 Y ey WA I PN (TP S IS iR

20

SE5E
[z
fiff 12— MR AR, SRMBLAE, AE A bay, SEA I EE KN, BUR B0 % R
e AT o SR IR B R B IA A BICR, JR P =
(1] BUR KA &2 predator, iz AR RS E R, X4 2
B SRR B RA, P DU i 4 i flf £ 1 4 B 8 T A
[2]) fdEfh 2 livestock Al poultry 15 228 FAOKYE, WHRRS TH#i#, ARZL farm
AR BN (TR, T2 250 .
[31] fishing limit L2/ D IR 2 ol K67, R 2 8EE i, I LE A S s ok
fiff £y 7=V (R 25 2R 25 AR, IXAN PR T AKX 1K 2 B L2, FEANHLIX 25 2
PRI 1 52 215310
CIITd
[1] %) predator /& part of the whole ecosystem, ‘& [ A7 4R 1R 22 HoAB AP S 1K 1)
& under control. FTLAEE & (ki A& PR il 4 $57,  AN2E disturb the balance of environment
(2] 750 8 A BoRYE, filifa ] LLBY soybean BT8R, K K 5% T livestock Al poultry
KBt ARG (0 1 POk I T HOR b4 78 /2 o Farm ARACAN 23 52 BRI 45 14 5% i
[3)] CH AT 2 B2 H b, XA fishing limit 2 J& temporary 1, HIJR
S A T Lk Sl R R B G K, — BLRIR] TR KR, vl O] DU R AR K. n B
TEANPR I, LGS ST A S FIE M collapse.
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RE5E
[5e] 15 C # :
# Rhone river [FJE, o245 RKILT —A bust(F2& — Pk REE), A IXA bust
#& Julies Caesar [, A JLNEEH:
[1] style of the sculpture: LRI ZARXAE IELf /& Caesar FIFEAEACHT, 1Y “realist style”
[2] resemblance to Caesar’s other portraits : Caesar ZEAC ] silver coin I fi i) k4%, Fiz% Lk
RILIIIEA bust AEHF AL, Rl Sk &k
[31] location of the bust found: Caser Jii KRAEHERH, FT L ICARANBAE B 1) 1 E 4890 N ik fR i
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Caesar kM5, PTCASA L T, R Uif538
Wy ) U s B4 SO
[1] style of the sculpture: LR HIZARXAE IEL /& Caesar FIFEAEACHT, 1Y “realist style”
[2] resemblance to Caesar’s other portraits: Caesar G-/ silver coin A MBI k1%, Fi%
WX bust FEF AL, el kK
[3] location of the bust found: Caser & 4% HERH (overthrow), BT UL ARASELAE Hr 0 F 48
BT ICOR B Caesar ISKAR, L4 L 1, IR U438

22

A5

reading 1% %! T deer [ [] = F function

Ist HLHA

2nd keep from predator

3rd male HI>KFE 7Rt A]] predominant

lecture ¥R A

1 AN, deer ERIL G EAMIMAIELE grow We; cold [ /7 ik grow We; 4 LE warm [F13
deer K ff /N, cold FRYHb TSI A DA, B AAS & F R HECHA R R

2 A%, W LR predator WE, J female WEAN K . &AM, 7E454EHh )5 deer 42 kick 7B
wolf [

3 AL P deer confront each other & H song KAL1A(E B, X5 Hod—H deer walk around
WA clear [NIE5 0 & f LLI /NP deer walk around T 1]
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1. Is it a good idea for professional athletes and well-known entertainers to pursue a

career in politics?

2.  Some parents do not agree with the way teachers are teaching their children. Do you

think that parents should express their disapproval to the teachers?

3. A high school has decided that all students must take a class in which they learn a
practical skill. School administrators are trying to decide whether to hold a class in cooking,
managing personal finances or auto repair. Which do you think the school should require
students to take? Why?

4. Do you agree or disagree with the following statement? The more money people have,

the more they should give away to charity.

5. If your teacher says something incorrect in a class, what will you do? 1. Interrupt your

teacher right away 2. Keep silent 3. Correct your teacher after class.

6. It is necessary for high school students to do household work after school because this

can give them a sense of responsibility.

7. When choosing a place for living, which factor is the most important one for you? 1.
Living in an area not expensive, 2. Living close to relatives 3. Living in an area with many

shops and restaurants.

8. Do you agree or disagree with the following statement? It is as important for older

people to study or learn new things as it is for younger people.

9. Do you agree or disagree with the following statement? The most important goal of

education is to teach people how to educate themselves.
10. Some students prefer to have their final grades determined by numerous small
assignments, whereas others prefer to have their final grades determined by only a few

large assignments. Which do you prefer and why?

11. Do you agree or disagree with the following statement? The most important things

people learn are from their families.
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

Some people say that students should study many lessons during a semester, but others
say that it is better for students to just take three or four lessons. Which do you think is
better?

Do you agree or disagree with the following statement? Workers would be much
happier if they are doing different types of tasks during their workday than doing the

same task.

Do you agree or disagree with the following statement? Teachers were more

appreciated and valued by the society in the past than they are now.

Do you agree or disagree with the following statement? We should state our honest

opinions even though other people may disagree with them.

Do you agree or disagree with the following statement? In the busy and crowded world

today, we should not expect people to be polite to each other.

Do you agree or disagree with the following statement? In order to attract good

students, a university should spend a lot of money funding social activities.

In times of an economic crisis, in which area should the government reduce its spending?

1. Education 2. Health Care 3.support for the unemployed.

Do you agree or disagree with the following statement? The most important problems in

today’s world will be solved in our lifetime.

Do you agree or disagree with the following statement? It is much easier for people to

achieve success without their family members’ help now than in the past.

Do you agree or disagree with the following statement? In order to succeed in doing a
new job, the ability to adapt oneself to the new environment is more important than the

excellent knowledge of this job.

Do you agree or disagree with the following statement? Students are more interested in

politics today than they were in the past.

Do you agree or disagree with the following statement? Competition between friends

always has a negative effect on their friendship.

Do you agree or disagree with the following statement? Parents should allow children to
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make mistakes and let them learn from their own mistakes.

25. Do you agree or disagree with the following statement: The car (automobile) has had a

greater effect on society than the airplane.

70



